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(A) Unimodel (B)Multimodel  (C) Bimodel
It & normal distribution g —0.6745 ar is equal to:-

) 8, ® 2 © u ®) 6,
For the standardized normal viarate ploczs=)=
(A)1 (B) 0 (€) 0.5 (D) 0.75
A population consists of § members 1, 2, 3, 4, fallhmlrmﬁmﬂfﬂ:ﬂ numbers is:-
@ 5 ®) 3 ©+ ® 3
A value calculated from population is called:-
(A) Parameter (B) Statistic (C) Population (D) Sample
If ¥ =22and @ =20 then sampling error is equal t0:-
(A) 2 (B) 20 (C) 22 (D) 42 iy
If n=8, Tx=120, Z(x- ¥ J =302 then unbiased estimates of the population variance oY i~
{(A) 15 (B)43.14 (C)37.75 (D) 120
An error is made by accepting H, if H, isactuaily true:-
{A) Type Il error (B) Type | error (C) Sampling error (1) None of these
Level of significance is denoted by:-
(A) B (Byl-a (C) o mi-4
Regression co-efficient 13 independent of:-
(A) Scale (B} Ongon (C) Both A and B (D) None of these
A correlation co-efficient lies between:-
(A) -11w00 {By0tol (C)-1t0+1 (D) —= 1o +mo
If b_,.._ =0 16, b, , = 0.04 then r,, is:-
(A) 0.08 (B) 0.8 (C)0.16 (D) 0.04
For (4 x 5 )contingency table the no of cells is equal to:-
(A) 4 (B) 15 (C) 20 (D) 16
In & chi-square test for independence no expected frequency should be ___ than 3.
(A) Greater (B) Less (C)Both Aand B (D) None of these § =
The graph of time series is called:- all

(A) Historigram  (B) Scatter Diagram () Frequency Curve (D) Histogram
m'mﬁﬁﬂltmﬂiiuuinuﬁchﬂmmnfmgfm“?
(A)Maximum ~ (B) Zero (©) Lesst v
aaded C ®w
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The graph of time serics is called:- _ |
(A) Historigram (B) Scatter Diagram (C) Frequency Curve (D)) Histogram
ﬁhﬁﬂmuﬁhmhwﬁuhmﬂmﬁwdmlﬂ-

{A) Maximum (B) Zero (C) Least (D) Negative
A decimal number system has base:-
(A) 8 (B) 10 (C) 2 (D) 16
The normal distribution is a:-
(A) Unimodel (B) Multimodel (L) Bimodel (D) Tri-model
In a normal distribution g - 0.6745 or is equal to:-
(A) 0, ®) % © p ) 6,
For the standardized normal viarate P (0 €z < )=
(A1 (B) 0 (€)0.5 (D) 0.75
A population consists of 5 members 1, 2, 3, 4. 5 then proportion of even numbers is:-
@ 5 ® 3 © 3 ® 3
A value calculated from population is called:-
(A} Parameter (B) Statistic (C) Population (D) Sample
If ¥=22and u =20 then sampling error is cqual to:-
(A) 2 (B) 20 (C) 12 (D) 42 r
If n=8, Yx=120, T(x - %) =302 then unbiased estimates of the population variance @Y isi-
(A) 15 (B)43.14 (C)37.75 (D) 120
An error is made by accepting H, if H, is actually true:-
(A) Type 1l error (B) Type | error (C) Sampling error (D) None of these
Level of significance is denoted by:-
(A) f B)l-a (C) a Dy1-4
Regression co-efficient is independent of:-
(A) Scale (B) Origon (C)Both A and B (D) None of these
A correlation co-efficient lies between:-
(A) - 1t0 (B0t l (C)-1t0+1 (D) - to += |

lfbf_j =0.16, b, A = 0.04 then r,, is:-

(A) 0.08 (B)0.8 (€)0.16 (D) 0.04
For (4:5)mﬁrmrublem¢nunfnelhiuqu1m:-
(A) 4 (B) 15 (© 20 [ T SRS
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If m=8, Tx=120, £(x -7 ) =302 then unbiased estimates c

(A) 15 (B)43.14 (€)37.75
An error is made by accepting H, if H, is actually true:-
(A) Type llerror ~ (B) Type | error (C) Sampling error

Level of significance is denoted by:-

(A) g B)l-a (C) &

Regression co-efficient is independent of -

(A) Scale (B} Origon (C)Both A and B

A comelation co-efficient lies between:-

(A =1lw0 (B)0w 1 Ci-1w+1

b, , =0.16, b, , = 0.04 then r,, is:-

(A) 0.08 (B) 0.8 (Ciol6 (D) 0.04
For (4 = 5 Jcontingency table the no of cells is equal to:-

(A) 4 (B) 15 (C) 20 (D) 16

In a chi-square test for independence no expected fiequency should be than 5.
{C) Both A and B (D)) None of these

(A) Greater (B) Less
The graph of time series is called:-
{A} Historigram (B) Scatter Diagram (C) Frequency Curve (D) Histogram
The best fitiing trend is one in which the sum of squares of residuals is:-
(A) Maximum (B) Zero (C) Least (D) Negative
A decimal number system has base:-
(A) 8 (B) 10 (C) 2 (D) 16
The normal distribution is a:-
(A) Unimodel (B) Multimode! (C) Bimodel (D) Tri-model
In a normal distribution @ —0.6745 or is equal to:- .
(A) 6, ® 2 (© u D) 6, A
For the standardized normal viarate P (0 <z <o )=
(A) 1 (B)0 (C) 0.5 (D) 0.75

A population consists of 5 members I, 2, 3, 4. 5 then proportion of even numbers is:-
2 ®) 2 © 3 ™% 3
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If ¥ =22and u =20 then sampling error is equal to:-

(A 2 (B) 20 ©) 22 (D) 42
If n=8, Tx=120, £(x - %) =302 then unbiased estimates of the population variance <= is:
(A)15 (B) 43.14 (C) 37.75 (D) 120 gk

An error is made by accepting H, if H, is actuaily true:-
(A) Type Il error (B) Type | error (C) Sampling error (D) None of these
Level of significance is denoted by -

(A) g B)1-a (C) a (Dy1- 8 .
Regression co-cfficient is independent of:- ,
(A) Scale (B) Origon (C)Both Aand B (D) None of these N
A correlation co-efficient lies between:- n
(A) =1100 (B)0to1 (C)-1to+1 (D) - to +o 1
ifb,, =0.16, b, , =004 thenr,, is:- |
{A) 0.08 (B) 0.8 (C) 016 (D) 0.04
For (4 x 5 )contingency table the no of cells is equal to:- F
(A) 4 (B) 15 (C) 20 (D) 16
In a chi-square test for independence no expected frequency should be ____ than 5.

(A) Greater (B) Less (C)BothAand B (D) None of these
The graph of time series is called:-

(A) Historigram (B) Scatter Diagram  (C) Frequency Curve (D) Histogram
The best fitting trend is one in which the sum of squares of residuals is:-

(A) Maximum (B) Zero (C) Least (D) Negative

A decimal number system has base:-

(A) 8 (B) 10 (€) 2 (D) 16

The normal distribution is a:-
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bl shows the marks obtained b
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4 g B 56 | 70 | 68 | 57 \ g
¥ Find the least squares regression line ¥ on x and show that Zy=LJy. M 4
[y j H.
. (b) Mnu-cﬁhimufmmmhyﬁmmmvﬂumf ﬁ,f-ﬁ .
5 hﬂudiuglm below:- 1 T
X re 208 | W
Y ﬂ 15 1 1Y 7 '-_*!f' '
9.(a)  Test H,: the two attributes are independent if 470 passed out of 750 appeared students. i
465 had attended classes and 58 of them failed. g
(b) Suppose ¥ =50+ 2x with origin at 1983 and unit of measurement for x is one year. '*
Shift the origin at 1980 4
SECTION-IIIL (P 1ICA .
10. NOTE: - Attempt any three parts. Ix5=15
(@) A population has values 4, 5, 7. 9. Take all possible samples of size two without
N=-n
replacement from this population. Verify that (1) px = p (i) o’x= T[ N —.1]-
(b) Giventhat n, =9, X, =75, £(X, - X,)’ =1482, n, =16, X, =60, :-“

(X, - f: )* = 1830. Find 90% confidence interval for (u, = u,)

(c)  Given the following data, find regression equation of y on x :-

X

6| 2

10

4| 8

y

il 13

5

8|7

co-efficient of rank correlation from the following ranks:-

2

5
714




understand hy Binary b 2 Bx2=16

ii) In Computer Studies, what do you
3 Attempt any cight parts.
(1) Define Sampling Frame.
(ii)  Elaborate the term Statistic.
(iii)  Explain Probability Sampling.
What do you understand by Standard Error? .
and variance for the sampling

(iv)
(v)  Inapopulation with 4 = 50 and & = 250. Find the mean
distribution of mean if sampling is done with replacement with n = 50.
(vi) Given u=40, §=4, SE(X)=2. Find n.
(vii)  What is meant by regression co-efficient?
(viii) Write down two properties of slope.
(ix)  Define simple linear regression.
(x)  Explain the term negative correlation.
(xi) Interpret the mean. of r=+1
- (xii) Given X =1, ¥ =8, b=2. Find the value of intercept 'a".
4. Attempt any six parts. 6x1=12

(i)  Explain the term rank correlation.
(ii) ~ What is meant by independence of attnibutes? Explain
(iii)  Given the pairs of ranks (4, 2), (1, 3), (2, 1), (5, 6), (6, 5), (3, 4). Find Xd".
(iv)  Define Time Series.
(v)  Explain the term Secular Trend.
Given (y - 3)=05,-05,1. -1, 05, -0.5. Find sum of squares of residuals.

(vi)
(vii) Inatime series ¥ =16 + 0.2x. Determine ¥ ~ intercept and slope of the line.
(viii) Write down additive model of ime series.
(ix)  What are the different components of a time series?
SE N-11 |
NOTE: - Attempt any three questions. werl
5@ X ~N(50,a%)and P(x<699)=0993 find the value of a. 22t
&=
e

(b) If X~N(24,16)find (i) Py (it) D, :




